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SH4E | 48 58 6H 78 8H 9H 108 | 118 | 128 18 2B 38
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BT mg/Q
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FM4AE | 4B 5H 68 7H 8R 9R 10 | 11A | 12H 1H 2R 3R
AEfE | 30K | 30K | 305K | 302K | 30K | 30K | 30K | 30K | 30K | 30K | 30K
XERE FIRE=30

3500

127001 0 T L e ot

(3000]

2500

2000

1500

1000

500

0 e e e e e e e e e e &
4H 5H 6R 7R 8H 93 10R 11R 12H 1H 2R 3R




ZEXSH=E

BT mg/Q

SHAE | 4B 5H 6H 7R 8R 9H 10 | 11A | 12H 18 2R

3R
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BT mg/Q
o4 | 48 5H 6H 7H 8H 9H 10R 113 | 12R 1H 2R 3R
JIE(E | 0.01K5%| 0.015k#| 0.01K | 0.01K5#%| 0.015K%| 0.015K#| 0.01K#| 0.01K%| 0.015K#| 0.01K#H| 0.01Ki%
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